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QUESTION 1

You have just racked a new 6-node switched cluster with ONTAP 9.7. You need to configure the cluster switches. 

In this scenario, which two elements would be used to complete the configuration? (Choose two.) 

A. SFP+ port 

B. rlogin 

C. SSH 

D. serial port 

Correct Answer: CD 

 

QUESTION 2

What is the default shelf ID for disk shelves with IOM12 modules? 

A. 12 

B. 01 

C. 10 

D. 00 

Correct Answer: D 

Reference: https://docs.netapp.com/platstor/index.jsp?topic=%2Fcom.netapp.doc.hw-ds-sas3-icg% 2FGUID-
F6882D15-2C68-40FC-AAA7-06B227B92377.html 

 

QUESTION 3

A storage administrator is trying to upgrade a pair of FAS2520s with internal SATA storage to a new 2node FAS8300
cluster. The storage administrator wants to preserve the existing data. 

In this scenario, which two capabilities are available to the storage administrator? (Choose two.) 

A. the ability to move the volumes from the old nodes to the new nodes 

B. the ability to pull out the tray of internal disks of the FAS2520s and reseat the tray in the internal storage of the
FAS8300s 

C. the ability to create a 4-node MetroCluster across the four nodes 

D. the ability to convert the FAS2520s to disk shelves and attach them to the new nodes 

Correct Answer: CD 
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QUESTION 4

When you install a new ONTAP 9.7 4-node cluster, which network type is required? 

A. data network 

B. peering network 

C. cluster interconnect 

D. intercluster network 

Correct Answer: C 

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.dot-cm-nmg/Network%20and%20LIF%
20management.pdf 

 

QUESTION 5

Click the Exhibit button. 

You are reviewing the setup of a recently installed FAS9000 switched cluster. As shown in the exhibit, the cluster
interconnects are connected to a pair of Cisco Nexus 3132Q-V 40 Gb ports. 

For a high availability, which ports should swap Ethernet cables? 

A. Swap node1:e8a and node2:e4a. 

B. Swap node1:e4a and node1:e8a. 

C. Swap node2:e4a and node2:e8a. 

D. Swap node1:e4a and node2:e4b. 

Correct Answer: C 
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QUESTION 6

An ONTAP cluster is installed at a secure site. The array has no access to the Internet but is managed 24/7 by onsite
engineers. The customer requires that when hardware failures occur, the failures are reported to the NetApp Support
team as quickly as possible. 

In this scenario, which two tasks should be performed during the project hand-off procedure to satisfy the customer\\'s
requirement? (Choose two.) 

A. Ensure that Active IQ Config Advisor is installed. 

B. Ensure that the onsite engineers receive EMS alerts when hardware issues occur. 

C. Educate the onsite engineers about invoking the AutoSupport tool from ONTAP System Manager. 

D. Educate the onsite engineer about how to manually log support calls. 

Correct Answer: BC 

 

QUESTION 7

You are installing a new AFF A400 cluster that is running ONTAP 9.7 software. You are asked to attach an Amazon S3
cloud tier for FabricPool technology. 

In this scenario, which two NetApp License File (NLF) types are supported for cloud tiering? (Choose two.) 

A. term-based 

B. perpetual 

C. base 

D. master 

Correct Answer: AB 

Reference: https://www.netapp.com/pdf.html?item=/media/17239-tr4598pdf.pdf (10) 

 

QUESTION 8

Click the Exhibit button. 
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You want to add a FAS2750 HA pair to an existing 6-node cluster. 

Referring to the exhibit, which action would you perform to begin adding the node? 

A. Use the back command to begin the Cluster Setup wizard. 

B. Reboot the node and enter maintenance mode and run the Cluster Setup wizard. 

C. Use the node setup wizard and select 0a as the management interface. 

D. Use the exit or quit commands then run the cluster setup command. 

Correct Answer: C 

Reference: http://docs.netapp.com/ontap-9/topic/com.netapp.doc.dot-cm-sag/System% 20administration.pdf (35) 

 

QUESTION 9

After a system panic, the NetApp Support team advises you to run the sldiag command. 

Which two actions must be performed before you use this command? (Choose two.) 

A. At the LOADER prompt, type boot_maintenance. 

B. At the storage system prompt, type halt. 

C. At the LOADER prompt, type boot_diags. 

D. At the storage system prompt, type boot_maintenance. 

Correct Answer: BC 

Reference: https://docs.netapp.com/platstor/index.jsp?topic=%2Fcom.netapp.doc.hw-plat-diag%2FGUIDB944DDDB-
FA1D-4306-8157-2DF02613CA39.html 

 

QUESTION 10

Click the Exhibit button. 
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As shown in the exhibit, you have an 8-node ONTAP 9.7 cluster. You are asked to set up a SnapMirror volume
relationship between node-1 and node-8 in the same cluster. 

In this scenario, which two network components are used by the SnapMirror volume? (Choose two.) 

A. private network 

B. cluster LIFs 

C. client network 

D. management LIFs 

Correct Answer: AB 
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